CenLANA ASC Meeting

Central Louisiana Area of Narcotics Anonymous Area Service Meeting

Meeting convened at 12:20 pm on 1-15-2022

The meeting was opened by Dustin with a moment of silence followed by the Serenity Prayer. Rocky read the 12 Traditions and Doug read the 12 Concepts.

Administrative Service Committee

Chairperson- Dustin E.

Present

Vice Chair- Edward

Present

Treasurer- Trevis J.

Present

Secretary- Ashley CW

Present

Subcommittees

H & I- John P.

Absent w/ report

PR- Trevis J.

Present

Literature- Philip

Present

Policy- Jack H.

Absent

ASR- Doug F.

Present

ASRA- Pam G.

Present

Activities - Ashley C.W.

Present

Group Service Representatives

Group		Voting	Host
Clean & Serene	absent	No	April
Jones Street	Rocky	Yes	May
New Life Group	Absent	No	June
No Matter What	Greg	Yes	July
Talking Heads	Philip	Yes	Jan.
The Addict Family	Frank	Yes	Feb.
Zoo Krew	Malcolm B.	Yes	March

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report.

Treasurer's Report: Read by Trevis (report attached)

Bank Balance:

\$1,749.22

Checks Outstanding: \$20.00+

Hotline:

\$13.75-

Available Balance:

\$1.749.22

Money Set Aside:

\$860

Working Balance:

\$889.22

Treasurer reading report to ASC to submit. Motion was made to accept the Treasurer's report. The Treasurer's report was accepted by ASC.

Subcommittee Reports:

H & I:

Trevis

read the report

(report attached)

Public Relations:

Trevis

read the report

(report attached)

Literature:

Philip

read the report

(report attached)

Policy:

Jack

absent

(no report)

ASR:

Doug

read the report

(report attached)

Activities:

Ashley

read the report

(report attached)

GSR Reports:

Clean & Serene:

absent

no report

(absent)

Jones Street:

Rocky

read the report

(report attached)

New Life Group:

absent

no report

(absent)

No Matter What:

Greg

read the report

(report attached)

Talking Heads:

Philip

read the report

(report attached)

The Addict Family:

Frank

read the report

(report attached)

Zoo Krew:

Malcolm B

read the report

(report attached)

Old Business: (New or unresolved business from last ASC meeting).

We voted on the \$10,000 money set aside for PR for region. Our area voted yes.

New Business:

It was brought up that area could possibly pay for two rooms when going to region, one for the ASR and one for the ASRA. This will be discussed later if necessary. Motion made by Doug to consider hosting the 2023 convention. This will be taken to the groups for a vote.

Elections:

Announcements:

Next area hosted by The Addicts' Family on 2-19-2022 at 12 pm.

Our area hosts Region the second weekend in July.

Final Treasurer's Report: Read by: Trevis

Previous Balance:

\$1,749.22

Donations/Other:

\$134.58

Checks Written:

\$420.00-

Available Balance:

\$1,463.80

Money Set Aside:

\$860.00-

Working Balance:

\$603.80

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor. Meeting adjourned at 1:27 pm



Central Area

Treasurers Report		01/15/22
Monthly Deposits	\$62.00	12-30-21
Monthly Deposit Activities	\$146.00+	01-05-22
Current Bank Balance	\$1,749.22	01-15-22
Previous Available Ending Balance	\$1,596.77	12-18-21
Outstanding Checks:		
Outstanding checks total	\$20.00+	
Hotline Expense December	\$13.75-	12-21-21
Available Balance	\$1,749.22	01-15-22
Money Set Aside:		
Prudent Reserve	\$150.00-	
Activities	\$400.00-	
H&I	\$50.00-	
P.R.	\$30.00-	
Secretary	\$30.00-	
RSC Travel	\$200.00-	
Total Money Set Aside	\$860.00-	
Total Working Balance	\$889.22	01-15-22



H&I Area Report

H&I still continues monthly meetings at at the Red River Treatment Center in Tioga on the 1st Tuesdays from 6:30-7:30pm with the men and on the 3rd Tuesdays of the month with the women. We also have H&I meetings at Edgefield Treatment Center on the 2nd Friday of the month from 6:30-7:30pm and Longleaf Treatment Center on the last Friday of the month from 6-7pm. We had 1 new member orientated since our last report. I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Vice Chair



P.R. Area Report

Greetings members,

I am continuing to keep our meeting schedules updated and available at both clubhouses and treatment facilities where possible. I am also continuing to update our Area Website cenlana.org and continuing to upload our Area & Regional minutes. We had our Regional meeting in New Orleans last Saturday and I would like to report that the budget for our Regional P.R. had passed and we will start the process of getting billboards and social media ads as well as producing a 15 & 30 second ad for T.V. with a professional studio. I will keep the Area updated on the progress of these projects to further enhance the message of recovery and to expand our fellowship within the Region. Thank you for allowing me to be of service.

Respectfully Submitted Trevis J P.R. Chair

Hello Family, Lititure is doing well. We ve Been selling w. Bookless and Key tops. The most This month, I will be making A ORDER Next Week inventory List is included. in Lovina



Main Monthly Inv. Report

Date: 12/18/2021

Item	Quantity	Cost	Co	st Total	Sale	e Price	Sa	les Total	Cash		
Basic Text	2	\$ 12.15	\$	24.30	\$	14.00	\$	28.00			
Guiding Principles	3	\$ 11.65	\$	34.95	\$	14.00	\$	42.00	On Hand	\$	112.00
It Works How & Why	2	\$ 9.55	\$	19.10	\$	12.00	\$	24.00			
Living Clean	1	\$ 10.35	\$	10.35	\$	12.00	\$	12.00	Literature Sold		
Just for Today Meditaton	2	\$ 9.55	\$	19.10	\$	12.00	\$	24.00			
Step Working Guide	2	\$ 9.00	\$	18.00	\$	11.00	\$	22.00	Recieving	\$	
NA White Book	30	\$ 0.80	\$	24.00	\$	1.00	\$	30.00			
Totals:			\$	149.80			\$	182.00	Turning in		
Tag / Madallian / Chin											
Tag / Medallion / Chip									Special Orders		
Tags White		a 0.50					Т		Total on Hand	\$	112.00
	5	\$ 0.56	\$	2.80	\$	0.65	\$	3.25		ナ	76.0
30Day	4	\$ 0.56	\$	2.24	\$	0.65	\$	2.60			138.0
60Day	25	\$ 0.56	\$	14.00	\$	0.65	\$	16.25			
90Day	19 34		\$	19.04	\$	0.65	\$	22.10			
6Months	12.4	\$ 0.56	\$	9.52	\$	0.65	\$	11.05			
9Months	20	\$ 0.56	\$	11.20	\$	0.65	\$	13.00			
1Year	53	\$ 0.56	\$	29.68	\$	0.65	\$	34.45			
18Months	14	\$ 0.56	\$	7.84	\$	0.65	\$	9.10			
2+ Years B&G	23	\$ 0.56	\$	12.88	\$	0.65	\$	14.95			
Chips											
White	0	\$ 0.40	\$	-	\$	0.50	\$	-			
Medallion	14	\$ 3.40	\$	47.60	\$	5.00	\$	70.00			
Totals:		· · · · · · · · · · · · · · · · · · ·	\$	156.80			\$	196.75			
Sub Totals:	,		\$	-300 ;60			\$	378.75			
I.P. Purchase				2842	o O						



A.S.R. REPORT TO AREA JANUARY 15, 2022 DOUG F-A.S.R.

My name is Doug and I am an addict. I hope everybody is having a good year. We went to New Orleans last weekend for the region me and Pam. Being the newly elected Vice Chair of the region Pam became our representive for our area. I have one more region as ASR so helping Pam at the region one more time as ASR and waiting till elections to elect a ASR Alt. Is my suggestions. I am returning \$64.58 to the area from the two hundred that was giving. Unless Pam has a good report most information will be revealed at next area. The motion about the PR budget was passed and the other things containing this was okayed. When I get the minutes I will put them on our website or get someone to do it. Next region will be in Baton Rouge the first weekend in April and cost will not be as much. There is a lot of information to be found on NA.org. About stuff around the world.

MORE WILL BE REVEALED, DOUG F

e e Service 10,000 budget on se mone

VE LAUGH LOVE

\$3000 for video for PSA campaings, To carry sing service, LIVE LAUGH LO

January 15, 2022 activities Report

The New Year's Eve party went well. We took in Blue of paid \$ 20 in rent. area took in \$146.00 Dernext event will be a mardi Gras Masquelade on Saturday, Feb. 19th to an trying to get in touch with the church in Pineville, but if not we will have it hore Either way we will have a taste of mardi Euros por luck, music, autions, \$ 50/50 rapple.

we will start at 5 & have a splaker meeting of T. I am planning on getting 2 speakers. I hope to get ms. Stephanie & withen Vougn or Elevoy. Il am budgetting as it il can get the church & if yo don't, will hopefully how? money left over chewin would cost \$10000 Drinks, Eduan, plastic vous utc. may gost about \$ 200. I'd also till area to provide some king cakes. I am vilquesting



Jones & Group Report

Still meeting on wednesday at 7:00pm at River City Club House. Meeting attendence is low, we average about 5 people each neek. We will celebrate two birthdays this month on the 26th, at 7 pm. Bon. B. 18415 & Rocky S. Eyrs. We donot have any new members or area donation.

Jones St C.S. R. Roek, S.



January 15, 2022

NO MATTER WHAT

Hello Family,

Our meeting attendance has been low with an average of 10-12 people. We will not continue to serve food plates every Thursday due to a lack of attendance and support. As of January 13 the last meal was served during the meeting. There will be no area donation this month. We look forward to continuing to carry a message and maintain an attractive atmosphere of recovery.

Gratefully Serving

Greg H.

MARCH 10, 2022
Greg H. 2 years.
Robbie C 1 year.

Hello Family,

TAIKING Heads is doing well, we had 3
BIRTHORYS LAST MINICHT, SHARON WITH 645, Glenn
with 1648, Geolge 3148, we ARE Still meeting
Two nights A week tuesday & FRIDAY.
we Are Donating \$50. to Aken at this time.

in Loveina Service

Philip L.

	1-15-22
	Her Family
	(leg raming,
	The Addicts Kamily is doing
and the second s	Hey Family, The Addicts Family is doing well. Meeting attendance is low. This month
	we had 4 members in affendance at our meetings.
	We still have meetings every Saturday at
	7PM at River City Clubhouse. We do not have
	an AREA donation today.
	J
h	
	Inank you for allowing me to be of
	Service.
	Frank A.
	GSR
	The Addicts Family
-	
_	
-	

Hello family

Zoo Crew is strugling. We have I

Meeting on Monday night 9+ 7. Our Ottendance
has been extreemly low, but we are hanging
in there. We will be celebrating I birthday
this month Jan 17th Stephony M with 14

yrs. Please come Join the celebration. Vours in service Malcolm B.

DATE: 1-15-22

Motion Made By: Doug Seconded By: Gold

Motion:

To consider hosting Next year's convention.

Ther create alhoc to look into this.

<u>Purpose</u>

Host convention

Intent

Of recovery a create discussion about doing this.

For -Against - Take it to groups.
Abstain -

Passed Failed